

Zeitschrift: Elemente der Mathematik
Herausgeber: Schweizerische Mathematische Gesellschaft
Band: 72 (2017)
Heft: 1

Artikel: An alternate proof of Gerretsen's inequalities
Autor: Lukarevski, Martin
DOI: <https://doi.org/10.5169/seals-735172>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften auf E-Periodica. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. Das Veröffentlichen von Bildern in Print- und Online-Publikationen sowie auf Social Media-Kanälen oder Webseiten ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. [Mehr erfahren](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. La reproduction d'images dans des publications imprimées ou en ligne ainsi que sur des canaux de médias sociaux ou des sites web n'est autorisée qu'avec l'accord préalable des détenteurs des droits. [En savoir plus](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. Publishing images in print and online publications, as well as on social media channels or websites, is only permitted with the prior consent of the rights holders. [Find out more](#)

Download PDF: 17.04.2026

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

An alternate proof of Gerretsen's inequalities

Martin Lukarevski

Martin Lukarevski studied mathematics in Skopje and obtained his Ph.D. at Leibniz University Hannover in 2012. Currently he is assistant professor in the Faculty of Informatics at University "Goce Delcev" (Macedonia). His interests include classical geometry, analysis and history of mathematics.

1 The inequality

The second degree inequality which establishes a fundamental relation between the semi-perimeter s on the one side, and the circumradius R and the inradius r of a triangle ABC on the other side is

$$16Rr - 5r^2 \leq s^2 \leq 4R^2 + 4Rr + 3r^2. \quad (1)$$

This double inequality, known as Gerretsen's inequality [6], is invaluable in the theory of triangle inequalities. The standard way of proving it is to calculate the squares of the distances from the incenter to the centroid and the orthocenter. It resembles the derivation of the Euler inequality $R \geq 2r$ from the Euler formula $OI^2 = R(R - 2r)$ for the distance from the incenter I to the circumcenter O , [4]. Let G and H denote the centroid and the orthocenter of a triangle. Then

$$9GI^2 = s^2 - 16Rr + 5r^2,$$

and

$$HI^2 = 4R^2 + 4Rr + 3r^2 - s^2.$$

In der Dreiecksgeometrie gehören die Ungleichungen von Gerretsen zu den wichtigsten quadratischen Ungleichungen: Sie beschränken den halben Umfang bei gegebenem Um- und Inkreisradius von oben und von unten. Der übliche Beweis beruht auf dem Ausrechnen von Abständen zwischen ausgezeichneten Punkten des Dreiecks. In der vorliegenden Arbeit liefert der Autor einen weiteren, elementaren Beweis, indem er neben der bekannten Schurschen Ungleichung eine einfache, allgemeingültige Ungleichung für drei reelle Zahlen ins Spiel bringt. Darüber hinaus zeigt er, wie man einige bekannte Ungleichungen aus den Ungleichungen von Gerretsen folgern kann.

Since squares must be non-negative, the inequalities immediately follow. For the derivation of HI^2 see [8, p. 200]. Once HI^2 is determined, one can consider the triangle OHI and its Cevian GI . Using Euler's formula $OI^2 = R(R - 2r)$, $OH^2 = 9R^2 - (a^2 + b^2 + c^2)$, the ratio $OG : GH = 1 : 2$ on the Euler line, and invoking Stewart's theorem, GI^2 is easily computed. Another way of proving the Gerretsen inequalities is by deducing them from the so-called fundamental inequality, [1],

$$\begin{aligned} & 2R^2 + 10Rr - r^2 - 2(R - 2r)\sqrt{R^2 - 2Rr} \\ & \leq s^2 \leq 2R^2 + 10Rr - r^2 + 2(R - 2r)\sqrt{R^2 - 2Rr}, \end{aligned}$$

whose proof is rather artificial and involved. Indeed,

$$\begin{aligned} & 2R^2 + 10Rr - r^2 - 2(R - 2r)\sqrt{R^2 - 2Rr} \\ & = 16Rr - 5r^2 + \left(R - 2r - \sqrt{R^2 - 2Rr} \right)^2 \geq 16Rr - 5r^2, \end{aligned}$$

and

$$\begin{aligned} & 2R^2 + 10Rr - r^2 + 2(R - 2r)\sqrt{R^2 - 2Rr} \\ & = 4R^2 + 4Rr + 3r^2 - \left(R - 2r - \sqrt{R^2 - 2Rr} \right)^2 \leq 4R^2 + 4Rr + 3r^2. \end{aligned}$$

We give a proof of the LHS inequality of (1) based on the well-known Schur inequality. For the RHS inequality of (1) we use a simple inequality for three real numbers and the same trigonometric identity used in the standard proof.

2 Lemmas

Lemma 1 (Schur's inequality). *For three positive numbers x , y and z and all $a \geq 0$ it holds*

$$x^a(x - y)(x - z) + y^a(y - x)(y - z) + z^a(z - x)(z - y) \geq 0,$$

with equality if and only if $x = y = z$.

For an easy proof see [11, p. 83].

Let

$$T_1 := x + y + z, \quad T_2 := xy + yz + zx, \quad T_3 := xyz.$$

For $a = 1$ the Schur inequality can be rewritten as

$$T_1^3 - 4T_1T_2 + 9T_3 \geq 0.$$

Lemma 2. *For three real numbers a , b and c it holds*

$$(-a^2 + b^2 + c^2)(a^2 - b^2 + c^2)(a^2 + b^2 - c^2) \leq (-a + b + c)^2(a - b + c)^2(a + b - c)^2.$$

Proof. Let $a \leq b \leq c$ and assume that $a^2 + b^2 - c^2 \geq 0$, since the other cases are trivial. Then by multiplying the three inequalities

$$\begin{aligned} (-a^2 + b^2 + c^2)(a^2 - b^2 + c^2) &\leq (-a + b + c)^2(a - b + c)^2, \\ (a^2 - b^2 + c^2)(a^2 + b^2 - c^2) &\leq (a - b + c)^2(a + b - c)^2, \\ (-a^2 + b^2 + c^2)(a^2 + b^2 - c^2) &\leq (-a + b + c)^2(a + b - c)^2, \end{aligned}$$

and taking the square root, we get the desired inequality. For the first inequality, we have

$$\begin{aligned} &(-a + b + c)^2(a - b + c)^2 - (-a^2 + b^2 + c^2)(a^2 - b^2 + c^2) \\ &= \left(c^2 - (a - b)^2\right)^2 - \left(c^4 - (a^2 - b^2)^2\right) \\ &= (a - b)^2 \left[(a - b)^2 - 2c^2 + (a + b)^2\right] \\ &= 2(a - b)^2(a^2 + b^2 - c^2) \geq 0, \end{aligned}$$

and similarly for the others. \square

Lemma 3. *For the product of the cosines of the angles in a triangle it holds*

$$\cos A \cos B \cos C = \frac{s^2 - (2R + r)^2}{4R^2}.$$

Proof. One proof is given in the excellent book [9, p. 56] where it is shown that the cosines are roots of the polynomial

$$4R^2x^3 - 4R(R + r)x^2 + (s^2 + r^2 - 4R^2)x + (2R + r)^2 - s^2 = 0.$$

By Vieta's formula follows the claim. A more direct proof follows from the trigonometric identity

$$\cos A \cos B \cos C = \frac{1}{2}(\sin^2 A + \sin^2 B + \sin^2 C) - 1, \quad (2)$$

the Law of Sines, $\sin A = a/(2R)$, and the algebraic identity for the sum of the squares of the sides

$$a^2 + b^2 + c^2 = 2(s^2 - 4Rr - r^2). \quad (3)$$

The trigonometric identity (2) is equivalent to

$$\cos^2 A + \cos^2 B + \cos^2 C + 2 \cos A \cos B \cos C = 1.$$

The last one is true, since

$$\begin{aligned} &\cos^2 A + \cos^2 B + \cos^2 C - 1 \\ &= \frac{1 + \cos 2A}{2} + \frac{1 + \cos 2B}{2} + \cos^2(A + B) - 1 \\ &= \cos(A + B) [\cos(A - B) + \cos(A + B)] \\ &= -2 \cos A \cos B \cos C. \end{aligned}$$

For the algebraic identity see [9, p. 52]. \square

3 The proof

Every inequality for three positive $x, y, z > 0$, with the substitution

$$a = y + z, \quad b = z + x, \quad c = x + y,$$

can be translated to an inequality for the sides of a triangle a, b, c , and vice versa. Then by invoking Heron's formula for the area $A = \sqrt{s(s-a)(s-b)(s-c)}$, $A = rs = abc/(4R)$ and the identity $(x+y)(y+z)(z+x) = (x+y+z)(xy+xz+zx) - xyz$, we get for the elements of the triangle in terms of T_1, T_2, T_3

$$s = T_1, \quad r^2 = \frac{T_3}{T_1}, \quad Rr = \frac{T_1T_2 - T_3}{4T_1}.$$

Thus

$$\begin{aligned} s^2 - 16Rr + 5r^2 &= T_1^2 - 16\frac{T_1T_2 - T_3}{4T_1} + 5\frac{T_3}{T_1} \\ &= \frac{T_1^3 - 4T_1T_2 + 9T_3}{T_1} \geq 0, \end{aligned}$$

by the Schur inequality. That is the LHS of Gerretsen's inequality (1).

For the proof of the RHS we take a, b and c in Lemma 2 to be the sides of a triangle. By the Law of Cosines, $-a^2 + b^2 + c^2 = 2bc \cos A$ and similarly for the other multiples. Then Lemma 2 gives

$$\begin{aligned} 8a^2b^2c^2 \cos A \cos B \cos C &\leq 64(s-a)^2(s-b)^2(s-c)^2 \\ &= 64A^4/s^2 = 4a^2b^2c^2 \frac{r^2}{R^2}. \end{aligned}$$

Now we apply Lemma 3 to the expression for cosines and obtain

$$s^2 - (2R + r)^2 \leq 2r^2,$$

which is the RHS of Gerretsen's inequality (1).

4 Equivalent forms

In this section we will give a few interesting equivalent forms of Gerretsen's inequality. It is remarkable that though not explicitly, the inequality has appeared almost a century before Gerretsen's publication. In 1870 M. Colins [3] gave the following inequality for the sides a, b, c of a triangle

$$2(a+b+c)(a^2+b^2+c^2) \geq 3(a^3+b^3+c^3+3abc).$$

It is equivalent to the LHS of (1) by (3) and the identity, see [9, p. 52]

$$a^3 + b^3 + c^3 = 2s(s^2 - 6Rr - 3r^2).$$

By (3) it follows that

$$24Rr - 12r^2 \leq a^2 + b^2 + c^2 \leq 8R^2 + 4r^2,$$

is an equivalent inequality to (1), and so is

$$4r(5R - r) \leq ab + bc + ca \leq 4(R + r)^2,$$

since

$$ab + bc + ca = \frac{1}{2} \left[(a + b + c)^2 - (a^2 + b^2 + c^2) \right] = s^2 + 4Rr + r^2. \quad (4)$$

The RHS of the last inequality can be rewritten in trigonometric form using the Law of Sines and the well-known identity

$$\cos A + \cos B + \cos C = \frac{R + r}{R}.$$

Then it becomes

$$\sin A \sin B + \sin B \sin C + \sin C \sin A \leq (\cos A + \cos B + \cos C)^2.$$

Another equivalent trigonometric form of the inequality is

$$\cos A \cos B \cos C \leq (1 - \cos A)(1 - \cos B)(1 - \cos C),$$

which comes as a byproduct from the derivation of HI^2 in [8].

5 Ono's, Blundon's and Hadwiger–Finsler inequality

In 1914 T. Ono conjectured [10] that for all triangles

$$27(-a^2 + b^2 + c^2)^2(a^2 - b^2 + c^2)^2(a^2 + b^2 - c^2)^2 \leq (4A)^6.$$

The conjecture was subsequently shown to be false in general, with the simple counterexample $a = 2$, $b = 3$, $c = 4$ and $A = 3\sqrt{15}/4$. However, it is true for acute triangles. The inequality from Lemma 2 can be rewritten as

$$(-a^2 + b^2 + c^2)(a^2 - b^2 + c^2)(a^2 + b^2 - c^2) \leq \frac{r}{s} (4A)^3.$$

Combining this with the well-known inequality $s \geq 3\sqrt{3}r$, we get

$$3\sqrt{3}(-a^2 + b^2 + c^2)(a^2 - b^2 + c^2)(a^2 + b^2 - c^2) \leq (4A)^3.$$

But for an acute triangle all the terms in the last inequality are positive and it can be squared, giving the Ono inequality.

Blundon's inequality is the following linear inequality, [1]

$$s \leq 2R + (3\sqrt{3} - 4)r.$$

It is a consequence of Gerretsen's inequality, since by the Euler inequality

$$\begin{aligned} s^2 &\leq 4R^2 + 4Rr + 3r^2 \\ &= \left(2R + (3\sqrt{3} - 4)r\right)^2 - r(12\sqrt{3} - 20)(R - 2r) \\ &\leq \left(2R + (3\sqrt{3} - 4)r\right)^2. \end{aligned}$$

We remark that an inequality of type $s \leq \lambda R + \mu r$ holds for all triangles only if it has the form

$$s \leq 2R + (3\sqrt{3} - 4)r + \alpha(R - 2r) + \beta r,$$

for some $\alpha, \beta \geq 0$. In this sense Blundon's inequality is the best possible linear inequality. Similarly, $s \geq 3\sqrt{3}r$ is the best possible linear inequality of type $s \geq \lambda R + \mu r$, see [2].

To conclude this note, we show that the celebrated Hadwiger–Finsler inequality [5], [7]

$$4\sqrt{3}A + Q \leq a^2 + b^2 + c^2 \leq 4\sqrt{3}A + 3Q, \quad (5)$$

with $Q := (a-b)^2 + (b-c)^2 + (c-a)^2$, can also be deduced from Gerretsen's inequalities. It holds $\sqrt{3}s \leq 4R + r$, since by the RHS of (1) and Euler's inequality

$$\begin{aligned} 3s^2 &\leq 3(4R^2 + 4Rr + 3r^2) \\ &= (4R + r)^2 - (4R + 4r)(R - 2r) \\ &\leq (4R + r)^2. \end{aligned}$$

Hence by (4)

$$\begin{aligned} a^2 + b^2 + c^2 - \left[(a-b)^2 + (b-c)^2 + (c-a)^2\right] \\ &= 4(ab + bc + ca) - (a+b+c)^2 \\ &= 4r(4R + r) \geq 4\sqrt{3}A, \end{aligned}$$

proving the LHS of (5). Similarly by the LHS of (1) and $s \geq 3\sqrt{3}r$

$$\begin{aligned} a^2 + b^2 + c^2 - 3\left[(a-b)^2 + (b-c)^2 + (c-a)^2\right] \\ &= 16(ab + bc + ca) - 5(a+b+c)^2 \\ &= 4(4r^2 + 16Rr - s^2) \\ &\leq 36r^2 \leq 4\sqrt{3}A, \end{aligned}$$

which is the RHS of (5).

References

- [1] W.J. Blundon, *Inequalities Associated with the Triangle*, Can. Math. Bull. **8** (1965), 615–626.
- [2] O. Bottema, *Inequalities for R , r and s* , Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No. 338–352 (1971), 27–36.
- [3] M. Collins, *Educational Times* **13** (1870), 30–31.
- [4] L. Euler, *Solutio facilis problematum quorundam geometricorum difficillimorum*, *Novi Commentarii Academiae Scientiarum Petropolitanae* **11** (1767) 103–123.
- [5] P. Finsler, H. Hadwiger, *Einige Relationen im Dreieck*, *Commentarii Mathematici Helvetici*, **10** (1937), no. 1, 316–326.
- [6] J.C.H. Gerretsen, *Ongelijkheden in de driehoek*. *Nieuw Tijdschr* **41** (1953), 1–7.
- [7] H. Hadwiger, *Ergänzungen zu zwei Defizitformeln des Dreiecks*, *Jber. Deutsch. Math. Verein.*, **49** (1939), 35–39.
- [8] E.W. Hobson, *A Treatise on Plane Trigonometry*, Cambridge University Press, 1928.
- [9] D.S. Mitrinović, J. Pečarić, V. Volenec, *Recent Advances in Geometric Inequalities*. Kluwer Academic Publishers. Dordrecht (1989).
- [10] Problem 4417, (proposed by T. Ono, solution by G. Quijano and F. Balitrand) *Intermed. Math.*, **21** (1914), 146, **22** (1915), 66, and **23** (1916), 86–87.
- [11] J.M. Steele, *The Cauchy–Schwarz Master Class: An Introduction to the Art of Mathematical Inequalities*, Cambridge University Press, Cambridge UK and the Mathematical Association of America, Washington DC, 2004.

Martin Lukarevski
Department of Mathematics and Statistics
University “Goce Delcev”
Stip, Macedonia
e-mail: martin.lukarevski@ugd.edu.mk